
(Remaining instructions on the last page)   ¼’ks”k funsZ’k vfUre i”̀B ij½ 

Roll No. .................................... 

 

O. M. R. Serial No. 

 

M. Sc. (Ag.) Agricultural Extension 

(First Semester) EXAMINATION, 2021-22 

DEVELOPMENT COMMUNICATION AND  

INFORMATION MANAGEMENT 

 

 

 

Time : 1:30 Hours ] [ Maximum Marks : 100 

Instructions to the Examinee :  ijh{kkfFkZ;ksa ds fy, funsZ’k % 

1. Do not open the booklet unless you are 

asked to do so. 
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u tk,A 

2. The booklet contains 60 questions. 
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questions in the OMR Answer-Sheet 

provided and not in the question booklet. If 

more than 50 questions are attempted by 

student, then the first attempted 50 
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All questions carry equal marks. 
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50 ls vf/kd iz’uksa dks gy fd;k tkrk gS rks izkjfEHkd 
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vU; izdkj dh deh gks  rks mls rqjUr cny ysaA 
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1. nqfu;k esa ge lHkh ?kVuk;sa fdl ‘kfDr }kjk 

ns[krs gSa \ 

 
1. We see all the events in the world 

through the power of : 

(A) JO;&n`’; lkexzh  (A) A. V. aids 

(B) flusek  (B)  Cinema 

(C) izkstSDVj  (C)  Projector 

(D) lSVsykbV  (D)  Satellite 

2. fdlkuksa ds lkFk jsfM;ks ij izLrqfr dk lcls 

vPNk <ax gS % 

 
2. The best way of presentation for Radio 

talk with the farmers is : 

(A) lewg ppkZ  (A) Group discussion 

(B) lk{kkRdkj  (B)  Interview 

(C) izopu  (C)  Lecture 

(D) xkus  (D)  Songs 

3. dEI;wVj lg vuqns’ku 
----------------

 fl)kUr ij 

vk/kkfjr gSA 

 
3. Computer Assisted Instruction in based 

on ................ principle. 

(A) fØ;k&izlwr vuqca/ku  (A) Operant conditioning 

(B) fpjizfrf”Br izkuqdwyu  (B)  Classical conditioning 

(C) ikoyksfo;u vuqca/ku  (C)  Pavlovian conditioning 

(D) izfrfØ;koknh vuqca/ku  (D)  Respondent conditioning 
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4. vf/kdre vf/kxe gLrkarj.k ds fy, 

fuEufyf[kr fLFkfr;ksa esa lcls vPNh dkSu&lh 

gksxh \ 

 
4. Which of the following situations would 

be the best for maximum transfer of 

learning ? 

(A) leku dk;ks± dks vyx&vyx izfrfØ;k 

pkfg,A 

 (A) Similar tasks requiring different 

responses. 

(B) leku dk;ks± dks leku izfrfØ;k pkfg,A  (B)  Similar tasks requiring the same 

response. 

(C) vyx dk;ks± dks vyx&vyx izfrfØ;k 

pkfg,A 

 (C)  Different tasks requiring different 

responses. 

(D) vyx dk;ks± dks leku izfrfØ;k pkfg,A  (D)  Different tasks requiring the same 

response. 

5. jh;y&Vkbe baVjsfDVo vkWfM;ks&ohfM;ks esa ftVj 

dks jh;y Vkbe MsVk esa nsjh ls is’k fd;k 

tkrk gS % 

 
5. In real-time interactive audio-video jitter 

is introduced in real time data by the 

delay between :  

(A) ÝsEl  (A) Frames 

(B) iSdsV~l  (B)  Packets 

(C) ys;lZ  (C)  Layers 

(D) fiDlsYl  (D)  Pixels 

6. ßoscdkfLVaxÞ dk lcls vPNk o.kZu D;k gksrk  

gS \  

 
6. What describes “Webcasting” best ? 

(A) bUVjusV ij ehfM;k izLrqfr dk forj.k  (A) Media presentation distributed over 

the Internet 

(B) osc fMtkbu }kjk ehfM;k izLrqfr  (B)  Media presentation using Web 

Designing 

(C) osc jpuk }kjk ehfM;k izLrqfr  (C)  Media presentation using Web 

Creation 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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7. Hkkjro”kZ esa Vh- oh- ij izFke izlkj.k ‘kq: fd;k 

x;k % 

 
7. The first telecast on T. V. in India was 

started on : 

(A) 15 flrEcj] 1959 dks  (A) 15th September, 1959 

(B) 15 vDVwcj] 1959 dks  (B)  15th October, 1959 

(C) 15 uoEcj] 1959 dks  (C)  15th November, 1959 

(D) 15 fnlEcj] 1959 dks  (D)  15th December, 1959 

8. Hkkjro”kZ esa jsfM;ks }kjk izlkj.k ‘kq: fd;k  

x;k % 

 
8. Broadcasting in India through Radio was 

started on : 

(A) 13 tqykbZ] 1917 dks  (A) 13 July, 1917 

(B) 17 tqykbZ] 1923 dks  (B)  17 July, 1923 

(C) 23 tqykbZ] 1927 dks  (C)  23 July, 1927 

(D) 27 tqykbZ] 1931 dks  (D)  27 July, 1931 

9. lfoZl xzsM ¼th- vks- ,l-½ fdl uke ls vPNh 

rjg tkuk tkrk gS \ 

 
9. By which name/s is the grade of service 

(GOS) well known  ? 

(A) dky dats’ku  (A) Call congestion 

(B) le; dats’ku  (B)  Time congestion 

(C) (A) vkSj (B) nksuksa  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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10. fuEufyf[kr esa ls dkSu&lk 85–95% rd 

Vªkalfe’ku ykbu dk mi;ksx djrk gS \ 

 
10. Which among the following utilizes the 

transmission line upto 85-95% ? 

(A) MsVk VªSfQd  (A) Data Traffic 

(B) vkokt VªSfQd  (B)  Voice Traffic 

(C) (A) vkSj (B) nksuksa  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

11. dEI;wVj esa] lapkj ehfM;k esa ‘kkfey gSa % 
 

11. In computer communication media 

includes : 

(A) LVSUMMZ VsyhQksu ykbu  (A) Standard telephone lines 

(B) dks,fDl;y dsCkYl  (B)  Coaxial cables 

(C) ekbØksosc Vªkalfe’ku  (C)  Microwave transmission 

(D) mi;qZDr lHkh  (D)  All of the above 

12. Qkbcj vkWfIVd dscy dk O;kl gksrk gS % 
 

12. Diameter of fiber optic cable is : 

(A) 62-5 lseh-  (A) 62.5 cm 

(B) 62-5 eh-  (B)  62.5 m 

(C) 62-5 ekbØksu  (C)  62.5 micron 

(D) 62-5 feeh-  (D)  62.5 mm 

13. ,d laihfMr vkWfM;ks@ohfM;ks Qkby dks 
--------------

 

ds :i esa MkmuyksM fd;k tk ldrk gSA 

 
13. A compressed audio/video file can be 

downloaded as a/an .......... . 

(A) Nfo  (A) Image 

(B) ohfM;ks  (B)  Video 

(C) <k¡pk  (C)  Frame 

(D) ikB Qkby  (D)  Text file 
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14. lapkj usVodZ vkn’kZ :i ls Kku esa ifjorZu 

ds fy, mi;qDr gS % 

 
14. The communication network ideally 

suited for imparting knowledge change : 

(A) LVj usVodZ  (A) Star network 

(B) lfdZy usVodZ  (B)  Circle network 

(C) Oghy usVodZ  (C)  Wheel network 

(D) LyS’k usVodZ  (D)  Slash network 

15. cykZs us fdrus izdkj dh lapkj n{krk,¡ crkbZ 

gSa \ 

 
15. How many communication skills are 

given by Berlo ?  

(A) nks  (A) Two 

(B) rhu  (B)  Three 

(C) pkj  (C)  Four 

(D) ik¡p  (D)  Five 

16. ßn F;ksjht vkWQ ekl dE;quhds’kuÞ uked 

fdrkc fy[kh gS % 

 
16. “The Theories of Mass Communication” 

book written by : 

(A) xouZj }kjk  (A) Govenor 

(B) Ms¶yh;j }kjk  (B)  Defleur 

(C) eSDosy }kjk  (C)  Maqvail 

(D) foUMsy }kjk  (D)  Windehl 
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17. nks ;k nks ls vf/kd tqM+s dEI;wVj lk>k dj 

ldrs gSa % 

 
17. Networked computer can share which 

one ? 

(A) gkMZos;j] lkW¶Vos;j ,oa vk¡dM+s  (A) Hardware, software and data  

(B) vkWIVhdy fMLd] lkW¶Vos;j ,oa vk¡dM+s  (B)  Optical discs, software and data  

(C) gkMZos;j] lkW¶Vos;j ,oa xzkgd  (C)  Hardware, software and client 

(D) mi;qZDr lHkh  (D)  All of the above 

18. vfunsZf’kr lapkj ehfM;k gksrk gS % 
 

18. Unguided communication media is : 

(A) dks,fDl;y dscy  (A) Coaxial cable 

(B) Qkbcj vkWfIVd dscy  (B)  Fibre optic cable 

(C) fV~foLVsM is;j dscy  (C)  Twisted pair cable 

(D) lSVsykbV  (D)  Satellite 

19. fo:i.k dk izdkj tgk¡ lans’k dh gkfu 

vf/kdre gksrh gS \ 

 
19. The distortion type where in the loss of 

message is maximum :  

(A) dksgjk  (A) Fog 

(B) vFkZ dk vuFkZ  (B)  Semantic 

(C) e`xr`”.kk  (C)  Mirage 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

20. d`f”k dE;qVs’ku ifj;kstuk ßd`f”k n’kZuÞ ‘kq: 

dh xbZ o”kZ 
---------------

 esaA 

 
20. The agricultural commutation project 

called “Krishi Darshan” was started in the 

year of : 

(A) 1967  (A) 1967 

(B)  1970  (B)  1970 

(C)  1988  (C)  1988 

(D)  1990  (D)  1990 
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21. 
---------------------

 best QksesZV ugha gSA 
 

21. .............. is not an image format. 

(A) fcVeSi  (A) Bitmap 

(B) th- vkbZ- ,Q-  (B)  GIF 

(C) ih- vkbZ- ,Dl- bZ- ,y-  (C)  PIXEL 

(D) ts- ih- bZ- th-  (D)  JPEG 

22. fuEufyf[kr ekbØksQksUl esa ls ohfM;ks 

izksMD’ku ds fy, dkSu&ls iz;ksx fd;s tkrs  

gSa \ 

 
22. Among the following microphones, 

which one is/are used in a Video 

Production ? 

(A) Mk;ukfed  (A) Dynamic 

(B) dkcZu  (B)  Carbon 

(C) fØLVy  (C)  Crystal 

(D) mi;qZDr lHkh  (D)  All of the above 

23. fuEufyf[kr esa ls dkSu&lk@ls ,MhfVax 

lkW¶Vos;j gaS@gS \ 

 
23. Which among the following is/are an 

editing software(s) ? 

(A) Qk;uy dV izks  (A) Final cut pro 

(B) Mªhe ohoj  (B)  Dream weaver 

(C) foUMkst ewoh esdj  (C)  Windows movie maker 

(D) (A) vkSj (B) nksuksa  (D)  Both (A) and (B) 

24. ohfM;ks izksxzke dk LVksjhcksMZ cukuk vkerkSj ij 

gksrk gS % 

 
24. Creating a storyboard of a video 

programme is usually at : 

(A) mRiknu pj.k  (A) Production stage 

(B) ‘kwV djus ds ckn  (B)  After the shoot 

(C) mRiknu pj.k ls iwoZ  (C)  Pre-production stage 

(D) iVdFkk pj.k  (D)  Scripting stage 
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25. lapkj izfØ;k esa ‘kksj dk mRiknu fu”Bk dks 

------------------------
 gSA 

 
25. In the process of communication 

production of noise ................ fidelity. 

(A) c<+krk  (A) Increases 

(B) fNikrk  (B)  Hide 

(C) de djrk  (C)  Reduces 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

26. fuEufyf[kr esa ls dkSu&lk fodsUnzhd`r lapkj 

usVodZ ugha gS \ 

 
26. Which of the following is not a 

decentralized communication network ? 

(A) psu  (A) Chain 

(B) lfdZy  (B)  Circle 

(C) LVkj  (C)  Star 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

27. Vsyh VSDLV D;k gksrk gS \ 
 

27. What is tele text ? 

(A) fcuk ,l- Vh- Mh- dksM ds yksdy Qksu 

dks ckgj ds VsyhQksu ls tksM+ukA 

 (A) Connecting the local telephone with 

outstation telephones without STD 

codes 

(B) Vh- oh- LØhu ij VsyhQksu dh ckrphr 

dks fn[kkuk 

 (B)  Flashing of telephone conversation 

on TV screen 

(C) lekpkj o tkudkjh dh iVdFkk dks 

Vhoh LØhu ij fn[kkuk 

 (C)  Flashing of text of news and 

information on TV screen 

(D) lans’k dh iVdFkk dks VsySDl e’khu ij 

fizaV djuk 

 (D)  Printing the text of the message on 

the telex machine 
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28. vf/kHkksx dk izfr’kr ml 
-------------------------

 ds izfr’kr 

ds :i esa ikfjHkkf”kr fd;k tk ldrk gS 

ftlds fy, loZj O;Lr yxrk gSA 

 
28. Percentage of occupancy can be defined 

as the percentage of .............. for which 

the server seems to be busy. 

(A) xfr  (A) Speed 

(B) nwjh  (B)  Distance 

(C) le;  (C)  Time 

(D) vk;ru  (D)  Volume 

29. ,d vPNs lans’k dh ewyHkwr fo’ks”krk,¡ gksrh  

gSa % 

 
29. The basic character of a good message  

is : 

(A) fof’k”Vrk  (A) Specificity  

(B) le;c)rk  (B)  Timeliness 

(C) fo’oluh;rk  (C)  Credibility 

(D) mi;qZDr lHkh  (D)  All of the above 

30. lapkj ds Lrj gSa % 
 

30. Levels of communication are : 

(A) ikjEifjd  (A) Conventional 

(B) vUos”k.kkRed  (B)  Exploratory 

(C) lgHkkfxrk  (C)  Participative 

(D) mi;qZDr lHkh  (D)  All of the above 
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31. ^lapkj* ‘kCn dh mRifŸk gqbZ gS % 
 

31. The word „communication‟ has 

originated from : 

(A) xzhd Hkk”kk ls  (A) Greek language 

(B) jkseu Hkk”kk ls  (B)  Roman language 

(C) ySfVu Hkk”kk ls  (C)  Latin language 

(D) ijf’k;u Hkk”kk ls  (D)  Persian language 

32. fopkjksa] rF;ksa] erksa] lwpukvksa ,oa le> dk 

vknku&iznku dgykrk gS % 

 
32. Sharing of ideas, facts, opinions, 

information and understanding is referred 

as :  

(A) leUo;u  (A) Coordination 

(B) f’k{k.k  (B)  Teaching 

(C) vf/kxe  (C)  Learning 

(D) lapkj  (D)  Communication 

33. lapkj izfØ;k esa Lohdk;Z vFkok vLohdk;Z gksrk 

gS % 

 
33. Acceptance or rejection in the 

communication process is : 

(A) lans’k mipkj  (A) Treatment of message 

(B) ek/;e vlQyrk  (B)  Failure of channel 

(C) izR;qŸkj  (C)  Feedback 

(D) ijkuqHkwfr dk vuqHko  (D)  Empathetic feelings 

34. lapkj izfØ;k ds fy, mfpr Jksrk dgykrs gSa % 
 

34. The type of audience suited for 

communication process is called :  

(A) lfØ; Jksrk  (A) Active audience 

(B) miyC/k Jksrk  (B)  Available audience 

(C) laHkkfor Jksrk  (C)  Potential audience 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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35. lapkj ck/kkvksa esa lekfgr gSa % 
 

35. Communication barriers include :  

(A) rduhdh  (A) Technical  

(B) lkekftd  (B)  Social 

(C) vkfFkZd  (C)  Economical 

(D) mi;qZDr lHkh  (D)  All of the above 

36. fojkV lapkj dh eq[; leL;k gS % 
 

36. Mass communication has main problem : 

(A) eg¡xkiu  (A) Costly 

(B) LFkkuh; Hkk”kk dh deh  (B)  No local dialect 

(C) ,d tSlh lwpuk  (C)  Same information 

(D) cksf>y  (D)  Burdonsome 

37. vf/kd la[;k esa vf’kf{kr yksxkas ds fy, lapkj 

dk lcls vPNk izdkj gS % 

 
37. The communication type best applied to 

largely illiterate people : 

(A) ekSf[kd  (A) Oral 

(B) fyf[kr  (B)  Written 

(C) vkSipkfjd  (C)  Formal 

(D) vukSipkfjd  (D)  Informal 

38. cgqr T;knk lwpuk,¡ miyC/k djkuk lapkj 

vojks/k lEcfU/kr gS % 

 
38. Providing too much information is a 

communication barrier related to : 

(A) lapkjd ls  (A) Communicator 

(B) izkIrdŸkkZ ls  (B)  Receiver 

(C) lans’k ls  (C)  Message 

(D) mipkj ls  (D)  Treatment 
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39. Hkkjro”kZ esa izFke lekpkj&i= Nik Fkk % 
 

39. The first newspaper published in India 

was : 

(A) csaxky vkmVyqd  (A) Bengal Outlook 

(B) :jy bafM;k  (B)  Rural India 

(C) caxky xtV  (C)  Bengal Gazette 

(D) VkbEl vkWQ bafM;k  (D)  Times of India 

40. Hkkjrh; izsl VªLV ¼ih- Vh- vkbZ-½ LFkkfir gqbZ % 
 

40. Press Trust of India (P. T. I.) was set up 

in the year of : 

(A) 1942 esa  (A) 1942 

(B) 1949 esa  (B)  1949 

(C) 1952 esa  (C)  1952 

(D) 1957 esa  (D)  1957 

41. lapkj O;ogkj esa vko’;d :i esa gksrk gS % 
 

41. Communication behaviour essentially 

consists of : 

(A) lwpuk izkIr djuk  (A) Information seeking 

(B) lwpuk dh izfØ;k djuk  (B)  Information processing 

(C) lwpuk QSykuk  (C)  Information disseminating 

(D) mi;qZDr lHkh  (D)  All of the above 

42. ek/;e esa lans’k LFkkiuk dh fØ;k ls iwoZ dh 

fØ;k dgykrh gS % 

 
42. The process before placing the message 

in the channel is called : 

(A) ladsrhdj.k  (A) Coding 

(B) foladsrhdj.k  (B)  Decoding 

(C) mipkj  (C)  Treatment 

(D) izR;qŸkj  (D)  Feedback 
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43. lapkj vf/kd vFkZiw.kZ 
-------------------

 gSA 
 

43. Communication is more meaningfully 

............. . 

(A) izlkj igq¡p  (A) Extension approach 

(B) izlkj.k dk lclsV  (B)  Subset of broadcasting 

(C) rF;ksa ,oa Hkkoukvksa dk vknku&iznku  (C)  Exchange of facts and feedings 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

44. lapkj esa [kjkch ,d lkekU; ckr gS 
-------------------

 

dhA 

 
44. Communication breakdown is a common 

feature of ............  

(A) xqIr ysu&nsu  (A) Ulterior transaction 

(B) ØkWl ysu&nsu  (B)  Cross transaction 

(C) (A) vkSj (B) nksuksa  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

45. lekpkj&i= i<+uk tkuk tkrk gS % 
 

45. Reading newspaper is known as : 

(A) oS;fDrd lapkj  (A) Intrapersonal communication 

(B) ikjLifjd lapkj  (B)  Interpersonal communication 

(C) fojkV lapkj  (C)  Mass communication 

(D) lewg lapkj  (D)  Group communication 

46. ,d lekpkj dgkuh dh gSMykbu fy[kh tkrh 

gS % 

 
46. Headline of a news story is generally 

given in :  

(A) orZeku dky esa  (A) Present tense 

(B) Hkwrdky esa  (B)  Past tense 

(C) Hkfo”; dky esa  (C)  Future tense 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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47. ,d QksVksxzkQ dks ,d dEI;wVj LØhu ij 

Hkstus dh izfØ;k dgykrh gS % 

 
47. The process of sending a photograph to a 

computer screen is known as : 

(A) ystj fizafVax  (A) Laser printing 

(B) LdSfuax  (B)  Scanning 

(C) fDyfiax  (C)  Clipping 

(D) dkWihbax  (D)  Copying 

48. rduhdh fodkl izfØ;k ‘kq: gksrh gS % 
 

48. The technology development process 

starts with : 

(A) rduhdh mRiknu ls  (A) Technology production 

(B) rduhdh fodkl ls  (B)  Technology generation 

(C) rduhdh tk¡p ls  (C)  Technology testing 

(D) rduhdh QSyko ls  (D)  Technology dissemination 

49. lapkj izfØ;k esa lcls egRoiw.kZ rRo gS % 
 

49. The most important element in the 

communication process is : 

(A) lzksr  (A) Source 

(B) lans’k  (B)  Message 

(C) ek/;e  (C)  Channel 

(D) izkIrdrkZ  (D)  Receiver 

50. cyksZ ds ekWMy esa rRoksa dh la[;k gS % 
 

50. The number of elements in the model of 

Berlo is : 

(A) pkj  (A) Four 

(B) ik¡p  (B)  Five 

(C) N%  (C)  Six 

(D) lkr  (D)  Seven 
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51. VsyhdkWUÝsal dk izdkj tgk¡ nks ;k vf/kd 

mi;ksxdrkZ MsVk Qkby dk lEiknu ,oa 

ifjofrZr dj ldrs gSa %  

 
51. Type of teleconference whereby two or 

more users are able to edit and modify 

data files simultaneously : 

(A) MsVk dkWUÝsaflax  (A) data conferencing 

(B) rqY;dkfyd lapkj  (B)  synchronous communication 

(C) vrqY;dkfyd lapkj  (C)  asynchronous communication 

(D) ohfM;ks dkWUÝsaflax  (D)  video conferencing 

52. okbl vksoj baVjusV izksVksdkWy esa in  

,l- vkbZ- ih- dk iwjk uke gS % 

 
52. In voice over IP, term SIP stands for :  

(A) lS’ku buhfl,’ku iksVZ  (A) Session Initiation Port  

(B) lS’ku buhfl,’ku ikFk  (B)  Session Initiation Path 

(C) lS’ku buhfl,’ku izksVksdkWy  (C)  Session Initiation Protocol 

(D) lS’ku buhfl,’ku iSdsV  (D)  Session Initiation Packet 

53. JO; ,oa n`’; ncko esa] Loj dk izfr lSds.M 

8000 lSEiy dh nj ls 
---------------------

 ds lkFk lSEiy 

fy;k tkrk gSA 

 
53. In audio and video compression, voice is 

sampled at 8000 samples per second  

with ................ . 

(A) 5 fcV~l izfr lSds.M  (A) 5 bits per second 

(B) 6 fcV~l izfr lSds.M  (B)  6 bits per second 

(C) 7 fcV~l izfr lSds.M  (C)  7 bits per second 

(D) 8 fcV~l izfr lSds.M  (D)  8 bits per second 
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54. jh;y&Vkbe VªSfQd dks lg;ksx dh vko’;drk 

gS % 

 
54. The real-time traffic needs support of : 

(A) Vªkalys’ku dh  (A) Translation 

(B) eYVhdkfLaVx dh  (B)  Multicasting 

(C) baVhxzs’ku dh  (C)  Integration 

(D) flD;ksfjVh dh  (D)  Security 

55. izR;qŸkj dh vo/kkj.kk nh x;h Fkh % 
 

55. The concept of Feedback was introduced 

by : 

(A) cyksZ }kjk  (A) Berlo 

(B) yhxUl }kjk  (B)  Leagons 

(C) LVhosUl }kjk  (C)  Stevens 

(D) gksoySaM }kjk  (D)  Hovland 

56. lapkj dk ,l&,e&lh&vkj ekWMy fn;k x;k  

Fkk % 

 
56. The S-M-C-R model of communication 

was given by : 

(A) ykloSy }kjk  (A) Lasswell 

(B) yhxal }kjk  (B)  Leagans 

(C) jkstlZ }kjk  (C)  Rogers 

(D) cyksZ }kjk  (D)  Berlo 

57. U;wure fjtksY;w’ku esa ,d dyj Ýse cuk;k 

tkrk gS % 

 
57. In the lowest resolution a colour frame is 

made of : 

(A) 1024 × 768  (A) 1024 × 768 

(B)  800 × 600  (B)  800 × 600 

(C)  1152 × 864  (C)  1152 × 864 

(D)  1280 × 1080  (D)  1280 × 1080 
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58. dEI;wVj lg vuqns’ku ¼lh- ,- vkbZ-½ rduhdh 

dk;ZØe funsZ’ku 
----------------

 ij vk/kkfjr gSA 

 
58. The Computer Assisted Instruction (CAI) 

technique based on Programme 

Instruction is :  

(A) Ýse vk/kkfjr lh- ,- vkbZ-  (A) Frame based CAI 

(B) mRiknd lh- ,- vkbZ-  (B)  Generative CAI  

(C) leL;k funkUkkRed lh- ,- vkbZ-  (C)  Problem solving CAI 

(D) bUVSyhtSUV lh- ,- vkbZ-  (D)  Intelligent CAI 

59. tc fo|kfFkZ;ksa }kjk LorU= :i ls iz;ksx djus 

ds fy, rS;kj lkW¶Vos;j dk ewY;kadu djrs gSa] 

rks ;g fu/kkZj.k djuk vfr vko’;d gS fd % 

 
59. When evaluating software designed to be 

used independently by students, it is most 

important to determine whether the 

software : 

(A) ;g cgqeaph; {kerk,¡a j[krk gS  (A) has multiplatform capabilities  

(B) ;g xzkfQd dh izpqjrk j[krk gS  (B)  has an abundance of graphics 

(C) bldk pykuk vklku gS   (C)  is easy to navigate 

(D) lquus] dysoj ,oa ns[kus dks tksM+rk gS  (D)  integrates audio, text and video 

60. baVjusV vk/kkfjr lwpuk ds fo’ys”k.k esa 

fo|kfFkZ;ksa dh n{krk lq/kkjus esa cgqr gh izHkkoh 

fØ;k gksxh % 

 
60. The activity would be most effective in 

improving students‟ skills in critically 

analysing Internet-based information : 

(A) ‘kCnkoyh ‘kCnksa dks ns[kus ds fy, 

bysDVªkWfud ‘kCndks’k dk iz;ksx  

 (A) using an electronic dictionary to 

look up vocabulary words  

(B) oLrqfu”Brk ds fy, lekpkj lEcfU/kr 

osclkbV~l dk ewY;kadu 

 (B)  evaluating news-related websites 

for objectivity 

(C) ‘kks/ki= ds fy, tkudkjh <w¡<+us ds fy, 

vkWuykbu fo’odks’k dk iz;ksx 

 (C)  using an online encyclopaedia to 

find information for a research 

paper 

(D) osc&czkmflax lkW¶Vos;j dk iz;ksx 

lh[kuk 

 (D)  learning to use web-browsing 

software  

 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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